
Разбалловка по экзамену Топология -3.

Мизюк: 3 {1 (1/2), 2 (1/2), 4а (1), 4б (1)}

Габдурахманов: 5 {4а (1), 4б (1), 5а (1), 5б (2)}

Тверской: 2 {4а (1), 4б (1)}

Шайдуров: 5 {4а (1), 4в (1/2), 4г (1), 4д (1+1/2) }

Авдошкин: 9 {3а (1+1/2), 3б (1), 4а (1), 4б (1), 4в (1), 4г (1/2), 5а (1), 5б (2) }

Шуклин: 4,5 {4а (1), 4б (1), 4в (1), 5аб (1+1/2) }

Клемятин: 9 {3а (1), 3б (1), 4а (1/2), 4б (1), 4г (1/2), 4д (2), 5а (1), 5б (2) }

Рудько: 4 {1(1), 3б (1), 4а (1), 4б (1) }

Калинов: 9 {1(1), 3а (1), 3б (1), 4а (1), 4б  (1), 4в (1), 4г (2), 4д (1)}


